+ T G

(—x4v)
JEH! B U mifgst R EL Y
V= 535.23 X  0.10 53.52  m® 53.5
PRI K - EEEWTmE X L v D
Vi=  0.34 X 92.20 31. 35
W - EEEWTmE X L v (A
V2= 0.34 X 92.20 31. 35
1k b (HRE300A)
V3= 0.36 X  1.00 0. 36
2L (REKHERE (G300A))
V4=  0.95 X  5.50 5.23
3L (KB (400X 4004))
Vo=  0.74 X 0.63 X  2.00 0.93
69.22 m°® 69. 2
HEL W - EEEWTm X L v D
V= 0.35 X  92.20 32. 27
W - EEEWTmE X L v (A
V2= 0.35 X 92.20 32. 27
1k v (HRE300A)
V3= 0.35 X  1.00 0. 35
2L (REKHARE (G300A))
V4= 0.84 X  5.50 4. 62
3L (KB (400X 4004))
Vo=  0.59 X  0.63 X  2.00 0. 74
70.25 m® 70. 3
PEEI R AR G ezl 53. 52
AR 69. 22
122.74  m® 122.7
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Vv

MR L V4 =
( #2El + K ) — %L+ HE ) /0.9
= 53.52 + 69. 22 — 70. 25 /0.9 =
X1
18 0.36
(%%_EE) 0.%
600
[X]2
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w2 0.9
";%li: 0.8
X3
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e K#EEWHWIHREZE

(—xH )
RN T
U3 AR
(37#3004) L=  92.20 1. 00 185.40  m 185. 4
BGHH WX &Y
a7 Y—hk N= 2,00 2.00 &Y 2.00
FEWT RN X LY
(G300A) = 5.50 5.50 | m 5.5
27 Y —FZ N=  185.40 19. 00 352.00 % 352.0
JL—F 7% N=  185.40 19.00 ¥ 19.0
AE KT
SRt AR
(400X 400A) | N=  2.00 2.00 & 2.0
Bitiay 7 J—h
EVar s y—K A= 0.10 18.54  m? 18.5
(t=100)
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B

(—xHv)
T AT 7V MEET
HIE A
A HEmEREE (RE) XV
(M-30, t=100mm) A= 524.19 524.19  m? 524. 2
) HEmER AR (RE) XV
(t=50mm) A= 524.19 524.19  m? 524. 2




A At =2y = fofe
] 4 iii] TH A E=A =
Wi = iz i N 2 #% 1
H A 4 =y (m) & OIS [T = NS 5| [T & B [T
(m) (m) (m?) (m) (m) (m?) (m) (m) (m?)
NO. 0 NO.O  + 0. 00 0. 00 5.58
NO. 1 NO. 1 + 0. 00 20. 00 5. 58 5. 58 111.60
NO. 2 NO.2  + 0. 00 20. 00 5.63 5.61 112. 20
NO. 3 NO. 3 + 0. 00 20. 00 5. 68 5. 66 113. 20
NO. 4 NO.3  + 0. 00 20. 00 5.68 5.68 113.60
NO. 4+12. 00 |NO. 4 + 12. 00 12. 00 5. 68 5. 68 68. 16
NO. 4+12.50 |NO. 4 0. 00 0. 50 7.75
NO. 4+13.20 |NO. 4 0.70 0.70 7.75 7.75 5.43
Gt 93. 20 524. 19




< =
ST TRt =1 H (5% 1)
(X R T
X Je
(E1, Wi 15em, 60) 9.20 -+  2.20 1.00 5.40  m 5.4
pis ya
X Je
(E1, Wi 15, BEA) 3. 00 3.00 m 3.0
X Je CEP D)
(%, i 15cm, 40) 3.30 3.30  m 3.3




B E Y MWME T

‘EL&
S

I

(—x4v)
S U L T
ay 7 Y—h X - EEEWTmE X L v D
REEBEE L V= 0.18 X 92.20 16. 60
(JE477) \
S - EEEWTmE X L v (A
V2= 0.18 X  92.20 16. 60
1L 0 (BEERSHITE)
V3= 0.20 X  5.50 1.10
K2k (BEKPEELTER)
V4=  0.15 X 2.00 0. 30
) 34.60 m°® 34. 6
eyl XK LD
(7A77AR) L= 92.20 +  9.00 101.20 m 101.2
(t=15cmlLF)
T AT 7k B U mifEst R EL D
SEEREUE L A= 535.23 535.23 m? 535. 2
(t=10cmLL T)
TR LR T
OB ayv 7 ) — MEEMEEEL LV
MEmarsv—bF) | V= 34.60 34.60 m°® 34. 60
OB T AT 7 MEEERTUE L LV
(AsHl) V= 535.23 X  0.05 26.76 m°® 26. 80
OB POEW (o7 U—R) kb
MEmarsv—b) | V= 34.60 34.60 m°® 34. 60
OB AR (AsHl) kv
(AsHiL) V= 26.76 26.76 | m® 26. 80




B E Y MWME T

i H

(—K%0)
AT
(BJF, ~e—H3) W= 2.00 X  37.00 74. 00
(FTv—F ) %37. Okg/m
) 74.00 kg
0.07  t 0.1
B3 A AL
N=  0.07 -+ 2.00 = 0. 035 1.00  [A] 1.0
(2tF5H)
X1
ColRiBL
) | 00
[X]2
CoRIEL | .15

(EHR)




¥ =R = SAs
H b L w =1 5 =) =
W = v 7 UV — FHE ¥ | T X T 7o O | E B a2 U — b
A S 4 il =y (m% ) N S| [T s ) S moFE | MmO W (NI
(m) (m) (m?) (m) (m) (m?) (m?) (m?) (m?®)
NO. 0 NO.O +  0.00 0. 00 5.70
NO. 1 NO.1 +  0.00 20. 00 5.70 5.70 114. 00
NO. 2 NO.2 +  0.00 20. 00 5.75 5.73 114. 60
NO. 3 NO.3 +  0.00 20. 00 5. 80 5.78 115. 60
NO. 4 NO.4 +  0.00 20. 00 5. 80 5. 80 116. 00
NO. 4+12.00 NO.4 + 12.00 12. 00 5. 80 5. 80 69. 60
NO. 4+12.50 NO. 4 12. 50 0. 50 7.75
NO. 4+13.20 NO. 4 13.20 0. 70 7.75 7.75 5. 43
Gt 93. 20 535. 23
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U B | @ (3 FE  300h) (10m% )

UBLAIE (3%E300A)
ZERBEVSAVILAG

‘ UZ{AI;E (3% 300A L=2000)

%ﬂ%)b’,‘"}b(tS)
g'h |
=l F %\gwmc—m)
4 PR &t A BN 5
UZRLRIE N=  10.000 = 2.000 = 5.000 & 5. 00
(3FH300A) ( L=2000, % HH &=419kg/{# )
ZHEEEY YA R,
#oE L ZL V= 0.360 X 0.030 X 10.000 = 0.108 m°® 0.11
(1:3)
FEAERS A= 0.560 X 10.000 = 5.600 m? 5. 60

(RC-40, t=10cm)

R e A= 0.560 X 10.000 = 5.600 m* 5.60




U i) 18] 1H

27 U — b & (3 300) (H=9)
412
10_ 135 10
o
412
&l
5 402 5
W=45kg /1%
% it 5 CAVANE S
a7 U—hE N= = 1.000 H¢ 1. 00

(3F#, B=300)
SR A 7 A RERS

( L=500, 27 & &=45. Okg/# )




U B M i y
JVv—F L 7E (T-25,300) (1H%9)
412
412
8 —
W=16. bkg/#&
£ PR &t A BN
TU—F o TE N= = 1.000 | # 1.00
(" 1440, T-25, 300) ( L=500, 7% B &=16. bkg/# )

GEEfiE~—27 A)
SHRRIE Y A 2




BHEFTba 7 U — k

(10f& P4 V)

RENBaY2-—F

520 100
- e
2|8 =
!
=)
> L L
aAavyy—»h
18-8-25BB
R 7t B P =
a7 YU—} 0.465 X 0.520 X 0.100 X 10.000 0.242 0.24
18-8-25BB
pinly oA 0.465 X 0.520 X 2.000 X 10.000 4. 836
0.465 X 0.100 X 2.000 X 10.000 0.930
> 5. 766 5. 77




1 &7 il 15

( G300A ) (10m24 )
HEFLE (G3004)
1 ICErE
520
55, 300 55 sL—F3 %
. | | (T-25. ) FER)
[
o) 8 1;ﬂ 280 J—Lo
v Jl BELZIL0:3)
=3 B EEI 01—+
= i (18-8-2508)
E ot !08)(!)‘
’ ’ 2 B8 1 (RC-40)
480
580
630
4 PR &t A BN 5
FE TR N=  10.000 -+ 1.000 10. 000 | 1A 10. 00
(G300A) ( L=1000, 3% & &=355kg/{# )
SHEEGEEY Y 2 s
FEWTEH  N= 1.000 X 10.000 10. 000 ¥ 10. 00
T —F o TE (BEHEE 36.5Kg/#)
#ee L2 V= 0.480 X 0.020 X 10.000 0.096 i 0.10
1:3
Higar 7 )—k V= 0.580 X 0.100 X  10.000 0.580 0.58
(18-8-25BB)
] A A= 0.100 X 10.000 X  2.000 2.000 i 2.00
FEAERS A= 0.680 X 10.000 6.800 | m? 6. 80
(RC-40, t=15cm)
SRR IE A= 0.680 X 10.000 6.800 m? 6. 80




£ 7K 3 y
(400 X 400A ) (10229)
£k
300 4008
630
115 L 400 . 115
Avni—kavg)—+
3 (18-8-258B)
i i
8 | 0 ||\ 24 (RC-40)
= 230 =
P PR &t " BN 5
W FAPUBHE 4 5 N= 1.000 X 10.000 = 10.000 X 10. 00
(400 X 400A) ( & EE=253kg/H )
JL—F 7% N= 1.000 X 10.000 = 10.000 & 10. 00
(T-25, 400 X 400)
A2 "—F V= 0.050 X 0.400 X 0.400 X 10.000 = 0.080 m°® 0.08
a7 U—»
(18-8-25BB)
Hpgar 20—k V= 0.730 X 0.730 X 0.100 X 10.000 = 0.533 m°® 0.53
(18-8-25BB)
BN A= 0.730 X 0.100 X 4.000 X 10.000 = 2.920 @ m? 2.92
FEAERS A= 0.830 X 0.830 X 10.000 = 6.889 | m? 6. 89
(RC-40, t=10cm)
FEEEIE A= 0.830 X 0.830 X 10.000 = 6.889 | m? 6. 89




